HASCO

Z10600/1/...

Mat.: 1.2312/1080 N/mm2
230 V~

P Info
l4
M10x1
6
Y+ rey N
=Yil7Z= = = i ®
Ea—
_—J—_:____:_L___:jl_J_:_ - o
b‘
— D
@ o/ *
&—mwm
max. 19 D
16 ,
I M1ex15
= b6
% - Lsn M4 (12x)
_'@ I 17 o
== 5 T e e Sy A SS
| I R 75
'_@/'/ 11 j . Ry
= \ f
S d DEHT
= d 18 (lsmin.) .
. U
l,min=(18+d/2)
[3max =(28-d/2)
28 (lzmax.)
Neu/New/Nouveau
Zubehor-Sortiment
Accessory kit Z1064/1/... | Watt |max.d| Typ b4 l4 s Nr./No.
Gamme d’accessoires
Z1067/1/5/1 ../ﬁwmﬁi1§4gigs%r'i I 46 12 " 6 Z10600/1/46x112/26

3.62

www.adultpdf.com



HASCO

Z10600/1/... ce
g/ISaS.:V1N.2312/1080 N/mm2

P Info

by

225 ,
I M16x15
T o6
% © ,_@n M4 (12x)
_'@ [ 1] e
| 2
s P - - 2%
-_Q/I/ 4 o ¥
é d DEHT '
= d 245 (lsmin) AN
l,min=(245+d/2)
3max.=(34.5-d/2)
345 (l;max)
Neu/New/Nouveau
Zubehodr-Sortiment
Accessory kit Z1064/1/... | Watt | max.d| Typ b4 l4 s Nr./No.
Gamme d’accessoires
Z21067/1/5/1 w—= Y 46% 125 " 1x4

Il "5 I 1 eiﬁg'_ﬁ_n26 Z10600/1/46x125/26
www.adultpdf.com |



Z10600/1/...

Mat.: 1.2312/1080 N/mm2
230 V~

P Info
l4
M10x1
L2 6
/o o N
=i y — ——=—\
o) 5 Z____"l':—_;;:—_".—’:‘\6—:————:-"__‘:&4.— o e S
! [ e e g —— 1T
] - jl o
7 — D
\ ©® (( ®©/ m
164/ \ IR
% I
7 w
o
max. 19 . max. 1.9 S 20
53 *1
25 )
I M16x15
T o6
% o] S ML(12x)
@ L7 -
e LS
PogfE—p e —- 29
-Q/I/ at ] or
S B6H] '
= d 27 (smin) .
. \
l,min=(27+d/2)
3max.=(42-d/2)
42 (lomax.)
Neu/New/Nouveau
Zubehor-Sortiment
Accessory kit Z1064/1/... | Watt |max.d| Typ b4 l4 s Nr./No.
Gamme d’accessoires
Z1067/1/5/1 ../!ﬁmﬂgl_i'1§5§igs%r = E I 46 40 " 6 Z10600/1/46x140/26

3.64

www.adultpdf.com




Z10600/1/... C€
Mat.: 1.2312/1080 N/mm?2 AN
230V~
P Info
lq
M10x1
=] =
ol o
o) 3
£
M
max. 19 L 19
53 *1
35 )
I M16x15
= 6
% - ,_@n M4(12x)
=== SS
P —— e - —— 29
'_@/I/ | /} / = %)
é DEHT ’
= d 37 (Lsmin) @
l,min.=(37+d/2)
3max.=(52-d/2)
52 (lomax.)
Zubehor-Sortiment
Accessory kit Z1064/1/... | Watt | max.d| Typ b4 l4 s Nr./No.
Gamme d’accessoires
Z21067/1/5/1 -y 160 ® 1x6 =5 I 1 1§ '1% 26 Z10600/1/46x160/26
3.65

www.adultpdf.com



